
CLASS-6 

CHAPTER-5 
Ba 
Dhimanceep 

Math JMsbutss UNDERSTANDING ELEMEMTARY SHAPES GrS S.S. Schoo 
Alambu Bakka (3 

Line Segme niL! 9t the patt o ne navin m initioal and 
enc point 

EXERCISE-5:1 

CWhat A the dlisad vantage in combaing the ne 
Segmenita by mene obsevati on ?) 

H e) SerodE 3d 3 HR ar 13 4Cm 

gust &oo Ring at tme segments we can't compaze 
them ccwiately We ane not Ame abou su sua 

udgement For ëxamplu Lt nave o ine segmentu 

engih Hcm and 4.2. cm espectivel.We cant 
ulge thi dfeoence. b tooking enls becaue The
Aeuma b be esal length 

lhy bete to use a ovide Ühan a ule, hule 

mewuna the Lengih oaine Segment? 

Then ae chan.ces oeRtI CHUoL in measuun h 

uuleThe thickness o the suleu may case dficulties 

in Leading othe maukRs on ib 
lo measute with ulen the eye Aheule be vetdCad 
abore the mark otheuwise ea Can hoppen duc to 

angulab Vitu]n 



30-7e1 aer3 AD BA nj3BTeee efe c561 
AB, Gc mi3 CA ara ar aT AB= ACt cB 3? (D>uaw any int segmenE AB aRe an point C ying in between A and 8. Measu1t the dunsth o AB, BC ano AC 9s AB Ac+ CB7 

J: AB 5 Cmr Jyrs hsn 

AB, BC o3 CA »rt 
AC-3Cm 
CB-2cm Sol: Too k AB-5Cm 

Put Point c on A3 

Measuwe hc, ceand AB 
AC= 3cm 
CB2cm 

ACtCG= 3t2=5cm=A8 
J, ACtCB= AB 31 

HCtCB = 3+2=5Cm= AB 
Hence ACHCR= AB. 

4Q1-1E Jen 3 te A. B » cfe He3 J5 TR AB-SCmn 
BC Bcm mis Ac= 8 TP 3 1 te eTeo te d ëei 

9 H, 8 ana C ane thoee boints on aime such thot 

AB-5Cm, Bc=3cm anol AC= 8Cm which one s them

ies betwten sthe two points 
AB-5Cm 
Bc 3m 

AC = AB+8 

ACSt3 -8Cm 
efe B, efe A ctesare 3 

Point 3 is betieen oth tiwo boin 

Veuity,shethe D is the mict point s AG 

OT je3 T5 A 3D, 
ChWith helb uler se measuedl AD, DG and AG) 

D3G 13 A3G rtym 
AD= 3Cm 

DG= 3cm 

AG- 6 Cm 

HDtDG=AG tn' asT 5Te 3 D, A G3p 
gel 3 31 D, AG efe (D is at eual distance 



nom A and G Hence D4 the miel beint AG 

GQ 8 amis Ac j-fe 3c da3 BD T 

fere t A, B, Cc m D tR Jt dar 3 tty3 D51H 

TR AB CD R ? 
4Bis the mic þoint AC and C is -the mid boird BD, 
whee A, B, C, D ie on Abuaia ht nt, Aay Ln 

AB-CO? 
Sal A G= Bc-O CretRB dar3 Ac q ie) 

(Bi micl þoint d Ac) 
BC = CD - Cta c aa3 BD j efe d) 

C C mid point BD) 

tem D 
AB Bc= CD 

2 ABcD 

Dnaw o ianle anol measue da siclea check ithne 

Sum o the ungtha o any boAides aays heatov 

-than thivol side? 

(Douan o Biangle ABC) 

AB-Icm 

5Cm Be 5cm 
AC 3cm 3cm 

+cm

AB+BC =7+5 12 73 AB+8C>AC 
Bct Ac= 5+3 = 8 >7 
ActAB = 3+7 lo 75 

Bc+AC7AB 
Ac+AB>Bc 

9t eroves the Sum any tso Aiales uienale 

is areate than thindilt 


